Chapter 7

(INTEGRALS)

++ Just as a mountaineer climbs a mountain — because it is there, so
a good mathematics student studies new material because
itisthere. —JAMES B. BRISTOL ¢

7.1 Introduction

Differential Calculus is centred on the concept of the |idiiekip il fibiiiiiih
derivative. The original motivation for the derivative was
the problem of defining tangent lines to the graphs of
functions and calculating the slope of such lines. Integral
Calculus is motivated by the problem of defining and
calculating the area of the region bounded by the graph of
the functions.

If a function f is differentiable in an interval I, i.e., its
derivative f “exists at each point of I, then a natural question
arises that given f “at each point of I, can we determine
the function? The functions that could possibly have given P
function as a derivative are called anti derivatives (or G .W. Leibnitz
primitive) of the function. Further, the formula that gives (1646-1716)
all these anti derivatives is called the indefinite integral of the function and such
process of finding anti derivatives is called integration. Such type of problems arise in
many practical situations. For instance, if we know the instantaneous velocity of an
object at any instant, then there arises a natural question, i.e., can we determine the
position of the object at any instant? There are several such practical and theoretical
situations where the process of integration is involved. The development of integral
calculus arises out of the efforts of solving the problems of the following types:

(a) the problem of finding a function whenever its derivative is given,

(b) the problem of finding the area bounded by the graph of a function under certain
conditions.

These two problems lead to the two forms of the integrals, e.g., indefinite and
definite integrals, which together constitute the I ntegral Calculus.
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There is a connection, known as the Fundamental Theorem of Calculus, between
indefinite integral and definite integral which makes the definite integral as a practical
tool for science and engineering. The definite integral is also used to solve many interesting
problems from various disciplines like economics, finance and probability.

In this Chapter, we shall confine ourselves to the study of indefinite and definite
integrals and their elementary properties including some techniques of integration.

7.2 Integration asan I nver se Process of Differentiation

Integration is the inverse process of differentiation. Instead of differentiating a function,
we are given the derivative of a function and asked to find its primitive, i.e., the original
function. Such a process is called integration or anti differentiation.

Let us consider the following examples:

We know that % (sin X) = cos X .. (D)
d ¥ ,
~ (2 = .. (2
dx( 3 ) =X (2)
d d (€)=¢e 3)
an — =
dx

We observe that in (1), the function cos X is the derived function of sin X. We say
3
that sin X is an anti derivative (or an integral) of cos X. Similarly, in (2) and (3), 3 and

€ are the anti derivatives (or integrals) of X* and €%, respectively. Again, we note that
for any real number C, treated as constant function, its derivative is zero and hence, we
can write (1), (2) and (3) as follows :
3
i(sin x+C)=cos X, i(X—+C):x2and i(e" +C)=¢"
dx 3 dx
Thus, anti derivatives (or integrals) of the above cited functions are not unique.

Actually, there exist infinitely many anti derivatives of each of these functions which
can be obtained by choosing C arbitrarily from the set of real numbers. For this reason
C is customarily referred to as arbitrary constant. In fact, C is the parameter by
varying which one gets different anti derivatives (or integrals) of the given function.

d
More generally, if there is a function F such that ™ F(X) =1 (X, vxe I(interval),

then for any arbitrary real number C, (also called constant of integration)

d

&[F(x)vLC]:f(x),XEI
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Thus, {F + C, C € R} denotes a family of anti derivatives of f.

Remark Functions with same derivatives differ by a constant. To show this, let g and h
be two functions having the same derivatives on an interval 1.

Consider the function f = g — h defined by f(X) = g(X) — h(x), v x e 1

df
Then A f’=9 - hgiving f'(X)=g'(X) —h(X) vxe I
or f”(X) = 0, v X e I by hypothesis,

i.e., the rate of change of f with respect to X is zero on I and hence f is constant.

In view of the above remark, it is justified to infer that the family {F + C, C € R}
provides all possible anti derivatives of'f.

We introduce a new symbol, namely, j f(X) dx which will represent the entire
class of anti derivatives read as the indefinite integral of f with respect to X.
Symbolically, we write j fX)dx=FXx)+C.

d
Notation Given that d—i =1 (X), we write y = I f (x) dx.

For the sake of convenience, we mention below the following symbols/terms/phrases
with their meanings as given in the Table (7.1).

Table7.1

Symbols/Ter ms/Phr ases M eaning

I f (x) dx Integral of f with respect to X

f(X) in j f (x) dx Integrand

X in _[ f(x) dx Variable of integration

Integrate Find the integral

An integral of f A function F such that
F()=f(x)

Integration The process of finding the integral

Constant of Integration Any real number C, considered as
constant function
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We already know the formulae for the derivatives of many important functions.
From these formulae, we can write down immediately the corresponding formulae
(referred to as standard formulae) for the integrals of these functions, as listed below
which will be used to find integrals of other functions.

Derivatives

V)

(i)

(iii)

(iv)

V)

(vi)

(vii)

(viii)

(ix)

)

(xi)

d Xn +1
i =x".

dx ( n+ 1} ’
Particularly, we note that

d
~—(x)=1 -
o=l

&(sin X) =cos X ;

&(fcos X)=sin X ;

% (tan X) =sec’X ;

d (- cot X) = cosec’X ;
dx

— (sec X) =sec X tan X ;

dx

&(— cosec X) = cosec X cot X ;
%(Sin_lx)z 11x2 ;
I
%(tan_l X):1+1x2 ’
%(—cot‘l X)_1+1x2 ’

Integrals (Anti derivatives)

n+1

X
n+1

jx“dx= +C,n#-1

_[dx:x+C

Icos xdx=sin X+ C

jsin Xdx=—-cos X+ C
Isecz xdx=tan X+ C
jcosecz xdx=—cot x+C
Isec Xtan X dx=sec X+ C

Icosec X cot X dx = —cosec X+ C

J. dx =sin ' x+C
1-x°

J. dx =—cos ' x+C
1-x2

I 2=tan_lx+C
1+ x

J. dx2 =—cot ! x+C
1+ x



. i(sec’lx)=;
(xi) g XX 1

1

XX =1

— (- cosec™! X) =

(xiii) dx(
i) 5 (@)=¢"

d 1
—(log| x|)=—:
(xv) dx(0g| ) =
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dx
J-—:sec’1 X+C
XA/ X =1
dx
j—z—cosec_lx+ C
XX =1
J‘e"dx:eX +C

jldx=1og|x|+c
X

d( a a*
N — = aX . Xd = C
(xvi) dx[log aJ ’ Jatax loga

In practice, we normally do not mention the interval over which the various
functions are defined. However, in any specific problem one has to keep it in mind.

7.2.1 Geometrical interpretation of indefinite integral

Let f(x) = 2x. Then j f(X) dx= x> + C . For different values of C, we get different

integrals. But these integrals are very similar geometrically.

Thus, y=X*+ C, where C is arbitrary constant, represents a family of integrals. By
assigning different values to C, we get different members of the family. These together
constitute the indefinite integral. In this case, each integral represents a parabola with
its axis along y-axis.

Clearly, for C =0, we obtain y = X2, a parabola with its vertex on the origin. The
curve y = x>+ 1 for C = 1 is obtained by shifting the parabola y = x* one unit along
y-axis in positive direction. For C =— 1, y=X*— 1 is obtained by shifting the parabola
y=X? one unit along y-axis in the negative direction. Thus, for each positive value of C,
each parabola of the family has its vertex on the positive side of the y-axis and for
negative values of C, each has its vertex along the negative side of the y-axis. Some of
these have been shown in the Fig 7.1.

Let us consider the intersection of all these parabolas by a line X=a. In the Fig 7.1,
we have taken a > 0. The same is true when a < 0. If the line X = a intersects the
parabolasy =x*, y =X+ 1,y=x+2,y=x-1,y=x-2atP,P,P P ,P etc,

respectively, then ;—di at these points equals 2a. This indicates that the tangents to the

curves at these points are parallel. Thus, IzX dx=x* + C = F. (X) (say), implies that
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the tangents to all the curves y = F . (X), C € R, at the points of intersection of the
curves by the line X =@, (a € R), are parallel.

Further, the following equation (statement) I f(X)dx=F (x)+ C=y (say),

represents a family of curves. The different values of C will correspond to different
members of this family and these members can be obtained by shifting any one of the
curves parallel to itself. This is the geometrical interpretation of indefinite integral.

7.2.2 Some properties of indefinite integral
In this sub section, we shall derive some properties of indefinite integrals.
(I) The process of differentiation and integration are inverses of each other in the
sense of the following results :

d —
&J'f(x) dx =f(x)

and I f'x)dx = f(x) + C, where C is any arbitrary constant.
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Proof Let F be any anti derivative of f, i.c.,

% F(X) =f(x)

Then [foodx =Fo+C
Theref L fooax - S (Foo+0)
ererore dX = dX

d _
&F(x)— f(x)

Similarly, we note that

00 % f(%)

and hence f f'x)dx =f(x) + C

where C is arbitrary constant called constant of integration.

Two indefinite integrals with the same derivative lead to the same family of
curves and so they are equivalent.
Proof Let f and g be two functions such that

d d
&If(x)dx = &Ig(x)dx

or %Uf(x)dx—fg(x)dx]=0

Hence I f(x) dx —I g (X)dx= C, where C is any real number  (Why?)
or _[f(x)dxzjg(x)dx+c

So the families of curves {j fx)dx+C,,C, R}

and {J. gx)dx+C,,C, e R} are identical.

Hence, in this sense, j f (x) dxand j g(X) dx are equivalent.
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@ Note|The equivalence of the families {jf(X) dx+C,,C, ER} and

{J. g(x)dx+C,,C, € R} is customarily expressed by writing I f(x)dx= I g(x) dx,

without mentioning the parameter.

iy [TF00+geo]dx=[ £ dx+ [ g dx
Proof By Property (I), we have

d
S JTF00+ g1 ax| =00 + g ()
On the otherhand, we find that

d d
&If(x)dwr&jg(x)dx

f(X) + g(x) .. (2
Thus, in view of Property (II), it follows by (1) and (2) that

I( f(X) +g(x)) dx= I f(x) dx+jg(x) dx .

(IV) For any real number K, Ik f(x)dx=k I f (x) dx

%U f(x) dx+'|'g(x) dx}

Proof By the Property (1), di I k f(x)dx=k f(x).
X

Also %[kjf(x)dx}= k%jf(x)dx=kf(x)

Therefore, using the Property (1), we have fk f(x) dx=k j f(x)dx.
(V) Properties (III) and (IV) can be generalised to a finite number of functions f , f,
..., f_and the real numbers, k, k,, ..., kK giving

j[k1 fL00+ Ky Fy () + ot K £ (%)]
- klj f,(X) dx+ k2j f, (%) X+ ...+ k_ j f(x)dx.

To find an anti derivative of a given function, we search intuitively for a function
whose derivative is the given function. The search for the requisite function for finding
an anti derivative is known as integration by the method of inspection. We illustrate it
through some examples.
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Example 1 Write an anti derivative for each of the following functions using the
method of inspection:

1
(i) cos 2x (i) 3% + 4% (i) —.x#0

Solution

(1) We look for a function whose derivative is cos 2X. Recall that

& sin 2X = 2 cos 2X

_1d —i[lsin2xj
or cos 2X = > dx (sin 2X) = ax |2

1 .
Therefore, an anti derivative of cos 2X is 3 sin 2X

(i) We look for a function whose derivative is 3x* + 4x*. Note that

d s, 4
&(x + X )=3x2 + 4%,
Therefore, an anti derivative of 3x% + 4x* is X3 + X%
(i) We know that
1 1

i(log X)=—,X>Oandi[log(—x)]=L(—l)=—,X<0
dx X dx —X X

. d 1
Combining above, we get i (log|X|) =% X#0

1 1
Therefore, j; dx=1log|X| is one of the anti derivatives of v

Example 2 Find the following integrals:

. x3—1d 3 2 : e g
(1) I N X (ii) I(x3 +1) dx (iii) I(x +2e _;) X

Solution
(i) We have

I X3X2_ 1 dx = J.x dx — J. X2 dx (by Property V)
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1+1 —2+1
_ X +C, |- +C, |- £i :
=1 1+1 1 —o+1 2 |; C,, C, are constants of integration

2 —1 2
X X X 1
= —+C-—-C, =2 424C -C
1 2 5 X 1 2

-2 -1

2
X 1 . . .
= —+—+C, where C = C, — C, is another constant of integration.

From now onwards, we shall write only one constant of integration in the
final answer.

(i) We have

J.(x§ +1)dx=~|.x§ dx + Idx

E+1

3 s
:)2( +X+C:§ 3 4ex+C
—+1 5
3

3 3
(iii) We have [(x? +2ex—l)dx=jx2 dx+ [2€ dx—jldx
X X

%‘Fl
X +2€ —log|X+C

+1

N | W

7 2
- gx2 +2€ —log|x+C

Example 3 Find the following integrals:
@) I(sin X+ cos X) dx (ii) Icosec X (cosec X + cot X) dx
1—sin X
d
(i) I cos® X

Solution
(1) We have
J(sin X + €08 X) dx=jsin X dx + Icos X dx

= —cos X+sin X+ C
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(i) We have
J (cosec X (cosec X+ cot X) dx = Icosecz X dx + J.cosec X cot X dx

= —cot X—cosec X+ C
(iii) We have

J-l—sinXdX:J- 1 dX—J.SinXdX

0052X 0052X 0052X

jseczx dX—Itan X sec X dx

tan X —sec X+ C

Example 4 Find the anti derivative F of f defined by f (X) = 4x° — 6, where F (0) =3

Solution One anti derivative of f (X) is X* — 6X since
i(x4 —6X) = 4% — 6
dx

Therefore, the anti derivative F is given by
F(x) = x* — 6x + C, where C is constant.
Given that F(0) = 3, which gives,

3=0-6x0+C or C=3
Hence, the required anti derivative is the unique function F defined by
F(x) = x* — 6x + 3.

Remarks

(i) We see that if F is an anti derivative of f, then so is F + C, where C is any
constant. Thus, if we know one anti derivative F of a function f, we can write
down an infinite number of anti derivatives of f by adding any constant to F
expressed by F(X) + C, C € R. In applications, it is often necessary to satisfy an
additional condition which then determines a specific value of C giving unique
anti derivative of the given function.

(i) Sometimes, F is not expressible in terms of elementary functions viz., polynomial,
logarithmic, exponential, trigonometric functions and their inverses etc. We are

therefore blocked for finding f f(X) dX. For example, it is not possible to find

— 2 . . . . . . . — 2
Ie “ dx by inspection since we can not find a function whose derivative is € *
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(i) When the variable of integration is denoted by a variable other than X, the integral

formulae are modified accordingly. For instance

4 y4+1 1 s
dy = +C==-y +C
Iy y 4+1 5y

7.2.3 Comparison between differentiation and integration

1.

Both are operations on functions.

2. Both satisfy the property of linearity, i.e.,

(1) %[kl f,0+k, f, (X)]: K % fi (X)) +k, % f, (X

) [k fi 0 +k f, 00]dx=k, [, (x)dx+Kk, [ f, () dx
Here k, and K, are constants.

We have already seen that all functions are not differentiable. Similarly, all functions
are not integrable. We will learn more about nondifferentiable functions and
nonintegrable functions in higher classes.

The derivative of a function, when it exists, is a unique function. The integral of
a function is not so. However, they are unique upto an additive constant, i.e., any
two integrals of a function differ by a constant.

When a polynomial function P is differentiated, the result is a polynomial whose
degree is 1 less than the degree of P. When a polynomial function P is integrated,
the result is a polynomial whose degree is 1 more than that of P.

We can speak of the derivative at a point. We never speak of the integral at a
point, we speak of the integral of a function over an interval on which the integral
is defined as will be seen in Section 7.7.

The derivative of a function has a geometrical meaning, namely, the slope of the
tangent to the corresponding curve at a point. Similarly, the indefinite integral of
a function represents geometrically, a family of curves placed parallel to each
other having parallel tangents at the points of intersection of the curves of the
family with the lines orthogonal (perpendicular) to the axis representing the variable
of integration.

The derivative is used for finding some physical quantities like the velocity of a
moving particle, when the distance traversed at any time t is known. Similarly,
the integral is used in calculating the distance traversed when the velocity at time
tis known.

Differentiation is a process involving limits. Soisintegration, as will be seen in
Section 7.7.
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10. The process of differentiation and integration are inverses of each other as

discussed in Section 7.2.2 (i).

4

| EXERCISE 7.1
Find an anti derivative (or integral) of the following functions by the method of inspection.
1. sin2x 2. cos 3X 3. ex
4. (ax + by 5. sin 2x — 4 e*
Find the following integrals in Exercises 6 to 20:
1
6. f@e+nd 7 [¥a-—pdx s [@ +bxrodk
2 3 2
X +5x" -4
9. I(2x2+ex)dx 10. I( x——j dx 11. j—zdx
X
X +3x+4 3 -
20 [P e as (XXX g [a-x Vo
x—1
15. I&(3x +2x+3) dx 16. I(2x—3cosx+ex)dx
17. J(2X2—3sin X+5\/§) dx 18. jsec X (sec X + tan X) dx
2
sec” X
10. J‘ ~_ dx 20. _[2 3s1nX
Choose the correct answer in Exercises 21 and 22.
21. The anti derivati f(&+lj I
: nti derivati -
e anti derivative o Ix equals
I 221,
(A) =x3+2x2+C (B) =x3+=x"+C
3 3 2
7 3 1 33 11
(C) =x2+2x2+C (D) =x?2+=x2+C
3 2 2
d ; 3 .
22. 1If &f(x)=4x —— such that f(2) = 0. Then f(X) is
X

o) KL 12 g -
(A) X 8 (B) x* 8

O Xl 12 by sl 120
(© X 8 (D) x* 8
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7.3 Methodsof Integration

In previous section, we discussed integrals of those functions which were readily
obtainable from derivatives of some functions. It was based on inspection, i.e., on the
search of a function F whose derivative is f which led us to the integral of f. However,
this method, which depends on inspection, is not very suitable for many functions.
Hence, we need to develop additional techniques or methods for finding the integrals
by reducing them into standard forms. Prominent among them are methods based on:

1. Integration by Substitution
2. Integration using Partial Fractions
3. Integration by Parts
7.3.1 Integration by substitution
In this section, we consider the method of integration by substitution.

The given integral I f(X) dx can be transformed into another form by changing
the independent variable X to t by substituting X = g (t).

Consider 1= j f(x) dx

Put X = g(t) so that % =g'(b).

We write dx =g'(t) dt

Thus 1= [foodx= f(g(t) gty dt

This change of variable formula is one of the important tools available to us in the
name of integration by substitution. It is often important to guess what will be the useful
substitution. Usually, we make a substitution for a function whose derivative also occurs
in the integrand as illustrated in the following examples.

Example 5 Integrate the following functions w.r.t. X:

(i) sinmx (i) 2xsin (X +1)
~ tan” Vxsec? Jx ] sin (tan~" X)
(i) Ix (iv) Tl
Solution

(i) We know that derivative of mx is m. Thus, we make the substitution
mMx = t so that mdx = dt.

. 1. 1
Therefore, Ism WdX:—ISIHt dt = — lcos t+C == —cos mx+ C
m m m
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(i) Derivative of X* + 1 is 2X. Thus, we use the substitution x> + 1 =t so that
2x dx = dt.

Therefore, fZX sin (X +1) dx = Isin tdt = —cost+C =—cos(X+1)+C

1

o I o
(i) Derivative of \/x is > X 2= Thus, we use the substitution

1
2J0x

1 . .
Jx =t so that —— dx = dt giving dx = 2t dt.
X

2/x
.‘-tan“\/; sec” \/x dx = J- 2ttan‘t sec’t dt

Thus, = 2 [tan*t sec’t dt
E J
Again, we make another substitution tan t = U so that sec? t dt = du
5
Therefore, 2 Itan“t sec’tdt=2 Iu“ du =2 u? +C
2 s .
= gtan t+ C (since u = tan t)
2 .
-3 tan® /X + C (sincet = \/;)
tan* /X sec? \/; 2 5
H dx = =tan® V/x+C
ence, I x 5

Alternatively, make the substitution tan~/x =t

(iv) Derivative of tan™'x= >~ Thus, we use the substitution

1+ X

dx
tan”' X =t so that > = dt.
1+x

sin (tan~'x
(—z)dx
1+ Xx

Now, we discuss some important integrals involving trigonometric functions and
their standard integrals using substitution technique. These will be used later without
reference.

Therefore , j = Isint dt = —cost+ C =—cos(tan"'x) + C

(i) [tan xdx =log|sec x| +C
We have

sin X
dx

Itan XdX=I

cos X
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Put cos X =t so that sin X dx = — dt
Then jtanXdX=—f%:—log|t|+C:—log|cosX|+C
or _ftan x dx =log [sec X+ C

(ii) Icot x dx =log|sinx|+C

CcoS X

dx

We have J.cot xdx= f i x

Put sin X =t so that cos X dx = dt
Then jCOt Xdx = I% = log |t| +C = log |sin X| +C

(iii) [ secx dx =log|sec x +tan x| +C

We have

sec X (sec X+ tan X) dx

sec X+ tan X
Put sec X + tan X =t so that sec X (tan X + sec X) dx = dt

Isec XdX=I

Therefore, jsec de=j%=log|t|+ C = log [sec X+ tan x|+ C

(iv) fcosec x dx = log|cosec x —cot x| +C

We have
cosec X(cosec X + cot X) dx

(cosec X +cot X)
Put cosec X + cot X =t so that — cosec X (cosec X + cot X) dx = dt

Icosec X dX=j

So jcosec XdX:—J.%:—logm:—log|cosecX+cotX|+C

2 2
|cosec X—cot X|
—log +C
| cosec X — cot X |

log |cosec X—cot X| +C
Example 6 Find the following integrals:

sin X

. . 3 2
@) J.sm X cos” X dx (ii) Ism x+a)

dx (1 1) I dx

1+ tan X
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Solution
(i) We have
j.sin3 X cos’Xx dx = Isinz X cos*X (sin X) dx
= I(l — cos*X) cos*X (sin X) dx
Put t = cos X so that dt = — sin x dx

Therefore, fsin2x COSZX(Sin X) dx = —j(l —t2)t2 dt
3 5
- [ -t dt=- LIS W
3 5

1

= ——cos3x+lcossx+ C
3 5

(ii) Put X+ a=t. Then dx = dt. Therefore

I sin X J~sm (t—a) ot
sin (X+a) sint

int a-— tsin a
J‘Sln COS costSin dt

sint

cosa [dt —sina [cot t dit

= (cos @)t —(sin ) [ log [sint|+ C, |

= (cos @) (x+a) —(sin &) [ log|sin (x+ )|+ C, |

= Xcos a+acos a—(sin a) log [sin (x+ &)| - C; sin a

sin X

sin(x+a) X cos a—sin alog |sin (X + a)| + C,

Hence, I

where, C=—C, sina+ acos a, is another arbitrary constant.

I B J~ cos X dx
(iif) 1+ tan X COS X + sin X

1 J- (cos X+ sin X+ cos X — sin X) dx
€OoS X+ sin X

303
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lJ-deLlIcosX—s%nxdx
2 27 cos X+sin X

J‘ COS X—Sll’lX
- COSX+S1HX

. cOos X —sin X
Now, consider 1= I —dx
cos X + sin X

Put cos X + sin X =t so that (cos X — sin X) dx = dt
Therefore I= I% =log |t| +C, = log|cos X +sin X+ C,

Putting it in (1), we get

dx x C 1 . C,
I—:—+—+—log|cosx+sm X|+—
I+tanx 2 2 2

X 1 . C G,
= —+—log|cos X+ sin X|+—+—
2 2 2 2

ZJrllog|cos X+ sin X|+C, C=&+&
2 2 2 2

| EXERCISE 7.2|
Integrate the functions in Exercises 1 to 37:
2X (log X)2 1
5 2, —— 3. T oo
1+ X X X+ Xlog X
4. sin Xsin (cos X) 5. sin (ax+ b) cos (ax+ b)

6. Jax+b 7. X X+2 8. Xq/l+2x°

1

X
9. (4X+2) /X2+X+1 10. X—\/; 11. m,x>0
X+

2

1 X 1
12. ¢ =13 % 13. —= 14, ——— x>0
=D 2+3%) X (log X"
X X
15. 16. @2x+3 17. —

. (1)



1

tan™ X 2 X
e e’ -1
18. 19.
1+ % e +1
21. tan®> (2x—3) 22. sec? (7 —4x)
2¢0s X —3sin X 1
24, 6cos X + 4sin X 25. cos’x (1 —tan x)*
: cos X
27. \/sin 2X cos 2X 28. m
sin X sin X
30 T3 cos x 3l. (1+ cos X)2
1 JJtan X
33. T __ 34, —————
1—tan X sin X cos X
X+ 1) (x+log x)* Xsin (tan~'x*
g6, XD (x+logx) o #
X 1+x

Choose the correct answer in Exercises 38 and 39.
10x* +10* log , dx
x'? +10%

(A) 10c—x°+C
(C) (10*=x1%1 + C

39. |

(A) tan X+ cot X+ C
(C) tanxcotx+C

equals

38. I

— — equals
sin” X cos” X

7.3.2 Integration using trigonometric identities

20.

23.

26.

29.

32.

35.
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¥ _g 2

e +e 2%
-]

sin X

NS

COS \/;
Ix

cot X log sin X

1+cot X

(1 + log X)2

(B) 100+ x°+C
(D) log (10*+ x1% + C

(B) tan X —cot X+ C
(D) tan X —cot 2x+ C

When the integrand involves some trigonometric functions, we use some known identities
to find the integral as illustrated through the following example.

Example 7 Find (i) jcoszx dx (i) jsin 2xcos3xdx  (iii) Isin3x dx
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Solution
(i) Recall the identity cos 2x = 2 cos®> X— 1, which gives
1+ cos 2X
cos*X = —

1 1 1
2 _ P —

Therefore, Icos xdx = 2J‘(l+cos 2X) dx = 5 Idx+ 5 J.cos 2xdx

X 1.

= —+—sin 2xXx+C
4
(i) Recall the identity sin X cos y = ) [sin (X +y) + sin (X —Y)] (Why?)

Then .[Sin 2Xxcos3xdx = lUsin 5% dx-jsin xdx}

2

1 1
—|——cos5X+cos X|+C
21 5

= —L0055x+lcos X+C
10 2

(ii)) From the identity sin 3x = 3 sin X — 4 sin’ X, we find that
3sin X —sin 3X

s
SIn’ X =
4

.3 3¢. 1.
Therefore, Ism Xax = stm X dx — 2 fsm 3x dx

= ficos X+Lcos3X+C
4 12

Alternatively, jsin3XdX=jsin2Xsin xax = f(l—cos2x) sin X dx
Put cos X =t so that — sin X dx = dt
. t’
Therefore,  [sin’xdx = — [(1-t*)dt = — [dt +[t* dt=—t +—+C
erefore j j( ) I j 3
1 3
= —cos X+—cos’X+C

Remark It can be shown using trigonometric identities that both answers are equivalent.
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EXERCISE 7.3
Find the integrals of the functions in Exercises 1 to 22:
1. sin* (2x+5) 2. sin 3X cos 4X 3. cos 2X cos 4X cos 6X
4. sin® (2x+ 1) 5. sin® X cos® X 6. sin X sin 2X sin 3X
] ) 1—cos X cos X
7. sin4xsin 8X 8. ———— 9. ——
1+ cos X 1+ cos X
.2
X
10. sin*X 11. cos* 2x 12, 22
1+ cos X
- cos X —sin X
13, Sos2xzcos2a g, COSXTSX g5 a2 sec 2x
COS X —COS & 1 +sin 2X
-3 3 .2
sin” X+ cos” X 2X+ 2sin“X
16. tan*x 17. ———— 18. u
sin” Xcos” X cos” X
19 1 20, — 082X 21. sin ! (cos X)
B S B . sin ' (cos X
sin X cos’x (cos x + sin x)’

1
cos (X —a) cos (X—h)
Choose the correct answer in Exercises 23 and 24.

-2 2
23. Iw dx is equal to
sin” X cos” X
(A) tan X+ cot X+ C (B) tan X+ cosec X+ C
(C) —tanx+cotx+C (D) tan X+ sec X+ C
X
24. I#dx equals
cos”(e"X)
(A) —cot (ex)+C (B) tan (x&) + C
(C) tan (e + C (D) cot (&) +C

7.4 Integralsof SomeParticular Functions

In this section, we mention below some important formulae of integrals and apply them
for integrating many other related standard integrals:

(1) J~ dX2 X—-a

+C
x?—a

—ilog
2a
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dx 1 a+x
=—Ilo +C
2 faz—xz 2a |a-x
dx 1. 1X
=—tan +C
@ Jz = e
4 J.\/i Iog‘x+ x*-a’|+C
X
(5) j.\/i—sm 'Z+C
(6) f\/i Iog‘x+ x?+a’[+C
x* +a’

We now prove the above results:

1 1
(1) We have X —al  (x—a)(x+a)

_ 1| &x+a-(x-3) _L{L_L}
" 2al (x—a)(x+a) | 2alx-a x+a

x+a}

1
_ £[10g|(x—a)|—log|(><+a)|]+C

dx 1
Therefore, '[)(2—a2 ===

X—a
X+a

zllog +C

2a

(2) Inview of (1) above, we have

11 {(a+x)+(a—x)} 171 1
Tl NTENE

a —x (@a+x)(a—x) 2ala-x a+x
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Theref J-dx _L dx+dx
eretore, a?-x> R2al’a-x ‘Ya+x

= L[—log|a—x|+log|a+x|]+C
2a

a+ X

a—X

Llo
- 2a g

+C

The technique used in (1) will be explained in Section 7.5.

(3) Put x=atan 6. Then dx = a sec? 6 do.
J- dx asec’ 6 do
X +a’  Ja’tan’0+a’

Therefore,

:ljm=1e+C=lum”5+c
a a a a
(4) Let x=asecH. Then dx = a sech tan6 do.

B J~ asecO tan0 do
a’ \/a2 sec’0—a’

= IsecO do =log |sece + tan9| +C

Therefore j o
’ \/ X2 _

=log|—+,|—-1

= log| x++/x* —a’ —10g|a|+Cl

= log| x+Vx* —a’ +C,whereC=C, —log|a|

(5) Letx=asin6. Then dx = acos6 de.
acosb do

Theref [ [
erefore, =
Jai - % Jat —a’ sin®
=jm:e+c=mn*§+c
(6) Let x=atan0. Then dx = a sec’*6 do.
asec’0 do

dx
Therefore, J. \/m = I \/m

= IsecO do = log |(sece + tan6)| +C,
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(7)

(8)

(9)

MATHEMATICS

_ log|—+ X—+1

= log|x+/x* +a’|-log|a|+C,

— log |x+ Vx> +a’ +C, where C = C, - log |a|

Applying these standard formulae, we now obtain some more formulae which
are useful from applications point of view and can be applied directly to evaluate
other integrals.

: : dx :
To find the integral Iaxz bxic’ we write
[ , b c} [ b T c b
at+bx+c=a X +—X+—|=a|| X+ —| +|-——
a a 2a a 4a
b .. ¢c b 2
Now, put X+——=tso that dx = dt and writing ———— =% k", We find the
2a a 4da

1 dt c_bp
integral reduced to the form a I—tz e depending upon the sign of ( a 432 j

and hence can be evaluated.

To find the integral of the type I proceeding as in (7), we

dx
Jaxt +bx+c
obtain the integral using the standard formulae.
pPX+q
ax’ +bx+c
constants, we are to find real numbers A, B such that

To find the integral of the type f dx, where p, q, & b, c are

px+q=A%(ax2+bx+c)+B=A(2ax+b)+B

To determine A and B, we equate from both sides the coefficients of X and the
constant terms. A and B are thus obtained and hence the integral is reduced to
one of the known forms.
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. . px + Q) dx
(10) For the evaluation of theintegral of the type J‘\/i we proceed
ax’ +bx+c

as in (9) and transform the integral into known standard forms.
Let us illustrate the above methods by some examples.

Example 8 Find the following integrals:

) dx . dx
U o IS I

Solution
. dx dx 1 -4
(i) We have jx2_16=j s =gl ‘—4+c [by 7.4 (1]
dx dx
(if) =
I\/2x—x2 I\/l—(x—l)z
Put X — 1 =t. Then dx = dt.
dx dt .
Therefore, = =sin" (1)+C by 7.4 (5
J.\/2x X2 J‘\/l—tz [by740)]
=sin”' (x-1)+C

Example 9 Find the following integrals :

§ dx i | dx
(l)f “ox+13 W -f3x2+13x—10 W J 5 —ax
Solution
(i) Wehave ¥ —6x+ 13=xX-6x+32-3>+13=(x—-3)1+4

dx 1
So, = dx
? Ix2 —6x+13 I(x—3)2 +27
Let X —3 =t. Then dx = dt
dx dt 1.t
= =—tan~ —+C
Therefore, [ —— =[5 r=5tn S [by 7.4 (3)]
= lta _I—X_3+C
2



312 MATHEMATICS

(ii) The given integral is of the form 7.4 (7). We write the denominator of the integrand,

3x2+13x—10==3(X2+—§————

137 (17Y
_3 x+g 3 (completing the square)

()-8

dx 1
3 +13x-10 3

—
Q.
X

Thus f

13
Put X+Z:t' Then dx = dt.

dx 1 J‘ dt

Therefore, _[3)(2 RERTIE

+C, [by 7.4 (1)]

X+
! 6 6 +C,

Il
|
—
@]
oQ

1 6Xx—4
17 6X+30

Il
|
—
Q
aQ

1

1 3x-2 1 1
+C,+—log—
17 X+5 17 ~3

I
|
—_
o
oQ

L10 3)(_2+C C+11 1
=17 g X+5 , Wwhere C= (; 17 0g3




INTEGRALS 313

=
\E/:
5
=
oo
<
(¢)
—
<
9]
><|\.> a
X
N
x
Il
—
g
941
— Y
x
&}
|
‘l\)
x
N—

= (completing the square)

1
Put X—g=t . Then dx = dt.

@
2_

Therefore IL = LJ‘ !
’ Jsx—a2x V5 /t (1)2
5

2
7oy 3
= —log|t+,t"—| = | [+C 4(4
75 loe 3 [by 74 (4)]
- Llog x—Li e -l c
J5 5 5
Example 10 Find the following integrals:
X+2 X+3
. dx .. A— )¢
(1) f2x2+6x+5 W) I\/5—4x+x2

Solution
(i) Using the formula 7.4 (9), we express
X+2= Adi(zx2 +6x+5)+B — A(4X+6)+B
X
Equating the coefficients of X and the constant terms from both sides, we get

1 1
4A=1and 6A+B =2 or ZZandBZE.
X+2 1 4X+6 1 dx
Therefore, I2x2+6x+5 4I2x2+6x+5 2j2x2+6x+5
1.1
=—[+-=1
Jioh a) - ()
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In I, put 2X* + 6X + 5 =1, so that (4x + 6) dx = dt

Therefore, I = J‘% =log | t | +C,

— log|2X* +6X+5|+C,

and L= v 6ox+5

2

J‘ dx % dx

X +3x+é

1
= I tan~' 2t +C,

tan™' 2 (x+%)+ C, = tan™' (2x+3)+C,

Using (2) and (3) in (1), we get

=22 ax=Llog |2 + 6x+5)+ 2 tan™! (2x+3) + C
2X° 4+ 6X+5 4 2

C, C
where, c=—"1+=22

4 2

This integral is of the form given in 7.4 (10). Let us express

d
X+3 = A&(5—4x—x2)+B:A(—4—2x)+B

- Q)

[by 7.4 (3)]

.3

Equating the coefficients of X and the constant terms from both sides, we get

1
—2A=land-4A+B=3,ie,A= —E and B=1
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—4 - 2x dx

Theref: J‘ X+3 __J' J‘
erefore, =
J5—4x—x2 \/5 4x—X* \/5 4x— X2
1
= —E Il + 12 .. (D)
InI, put 5 —4x—x* =1, so that (- 4 — 2x) dx = dt.
4—2x)dx
Therefore, [= j(— j 2\ﬁ+C1
V5—4x—x
= 235 —4x-x* +C, . (2
Now consider L= I\/5—4X—X2 :I\/9_(x+2)2
Put x + 2 =, so that dx = di.
I ‘1£+C
Therefore, I, = \/7 [by 7.4 (5)]
_ sin_lx%2+C2 . (3)

Substituting (2) and (3) in (1), we obtain

[ i B2 where €=, -
5—4x—-x

2

|EXERCISE 7.4|

Integrate the functions in Exercises 1 to 23.
3x° 1 1

—_— 2. —T— 3. T
X8 +1 J1+4x (2—x)2+1

2

1 . 3x 5 X
9 _25%2 S 1+2xt S 1-x°

x—1 N sec’x

X -1 x° +a° - Jtan?x+4
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1 1 1
10. NN s 9%* +6X+5 12 V7 =6 =%
a1 T S
CJ(x=1)(x=2) L J843x=X2 - J(x—a)(x—h)
5 4x+1 X+2 g 5x-2
o J2X +X=3 e Xt —1 T axeae
6X+7 X+2 X+2
19. —— 20. 77— 21, ——
(x=5)(x—4) 4x—x? VX2 +2x+3
X+ 3 5X+3

22.

- 23. .
x> —2x-5 VX +4x+10
Choose the correct answer in Exercises 24 and 25.
dx
24. |————equals
I +2x12

(A) xtan!' (x+1)+C (B) tan' (x+1)+C
(C) (x+1Dtan'x+C (D) tan'x+ C

equals

- JL
T J9x—4x2

A Lsin [ 22281 ®) Lsin ! [*2 )
9 8 2 9
L. (9x-8 lsin1(9X—8j+C

©) Esm ( 2 j+C (D) > 9

7.5 Integration by Partial Fractions

Recall that a rational function is defined as the ratio of two polynomials in the form

% , where P (X) and Q(X) are polynomials in X and Q(X) # 0. If the degree of P(X)
X

is less than the degree of Q(X), then the rational function is called proper, otherwise, it
is called improper. The improper rational functions can be reduced to the proper rational
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X
X)) is improper, then Px) =T(X)+ )

QM) Q)

P
functions by long division process. Thus, if (

P (X)
Q(X)
how to integrate polynomials, the integration of any rational function is reduced to the
integration of a proper rational function. The rational functions which we shall consider
here for integration purposes will be those whose denominators can be factorised into

. . P(x) P(x)
linear and quadratic factors. Assume that we want to evaluate _[— dx, where ——
Q(X) Q(x)
is proper rational function. It is always possible to write the integrand as a sum of
simpler rational functions by a method called partial fraction decomposition. After this,
the integration can be carried out easily using the already known methods. The following
Table 7.2 indicates the types of simpler partial fractions that are to be associated with
various kind of rational functions.

where T(X) is a polynomial in X and is a proper rational function. As we know

Table7.2
S.No. | Form of the rational function Form of the partial fraction
A B
1. M, azb e T
(x-a) (x-b) X—a Xx-=b
5 pX+q LJr B -
| (x-ay? X-a (x-a)
. PX* + QX+ T A B, C
' (x—a)(x—=b)(x—c) X—a X-b x-c
4 pX% + QX+ I A B C
" | (x—a)* (x=b) x—a (x—a)’> x-b
. pX’ + QX+ A | BxiC
(x—a) (X* +bx+c) x—a X +bx+c
where X* + bx + ¢ cannot be factorised further

In the above table, A, B and C are real numbers to be determined suitably.
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dx

Example 11 Find Im
Solution The integrand is a proper rational function. Therefore, by using the form of
partial fraction [Table 7.2 (1)], we write

AL B 1
X+l X+2 - (D)

1
X+1)(x+2)

where, real numbers A and B are to be determined suitably. This gives
I1=AX+2)+B(Xx+1).
Equating the coefficients of X and the constant term, we get
A+B=0
and 2A+B=1
Solving these equations, we get A=1 and B =— 1.
Thus, the integrand is given by

1 1 -1
= +
X+1)(x+2) x+1 x+2
dx dx dx
Therefore, I(x+1) (X+2) J.x+1 _Ix+2

= log|X+1|—10g|X+ 2|+C

X+1
X+2

= log +C

Remark The equation (1) above is an identity, i.e. a statement true for all (permissible)
values of X. Some authors use the symbol ‘=’ to indicate that the statement is an
identity and use the symbol ‘=’ to indicate that the statement is an equation, i.e., to
indicate that the statement is true only for certain values of X.
. X2 +1
Example 12 Find _[—2 dx
X" =5X+6

2
. . X+l : . .
Solution Here the integrand N is not proper rational function, so we divide

—-5X+6
X*+ 1 by X* — 5x + 6 and find that
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X2+1 5X-5 —1 5X-5

_ 4T 1+ > =1+

x> —5X+6 X" —5%+6 (x=2)(x=3)
L 5x-5 A B
© (x—=2)(x=3) X—2 x-3
So that 5Xx—5=A (X-3)+B (X-2)

Equating the coefficients of X and constant terms on both sides, we get A+ B =5
and 3A + 2B = 5. Solving these equations, we get A=—35 and B=10

x> +1 e 5 10

Th = +
e x> —5X+6 X—2 Xx-=3
x> +1 dx
Therefore, dx—5 —dx 10[—=
ererore J.X _5X+6 j I X—3
—X—510g|x—2|+1010g|x—3|+C.
X-2
Example 13 Find j—
(X+1D2(X+3)

Solution The integrand is of the type as given in Table 7.2 (4). We write

3x—-2 A B C
X+1)*(x+3)  x+1 (x+1)* x+3
So that IX—2=A X+ 1) X+3)+B(X+3)+C X+ 1)

—A(CHAX+)+B(X+3)+COR+2x+1)

Comparing coefficient of x>, X and constant term on both sides, we get
A+C=0,4A+B+2C=3and 3A + 3B + C=-2. Solving these equations, we get

11 =5 —11

A=-—,B=— and C=——.Thus the integrand is given by
2 4
3x—2 N
(X+1)2(x+3) 4(x+1) 2(x+1)2 4(x+3)
Theref =2 U “I e ox
eretore, x+1)2(x+3) 49 x+1 (x+1) 4%y
zﬂlog|x+1|+ > ——llog|x+3|+C
4 2(x+1) 4
11 X+1 5
=— + +
4 X+3 | 2(x+1)
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Example 14 Find J‘#dx
X +DH (X +4)
X2
Solution Consider —————— and put X* =Y.
X+ (x" +4)

2

Then 5 X 3 = y
X +D) (X" +4) Y+ (y+4)
Wit y A N B
e (Y+1)(y+4) y+1 y+4
So that y=A{y+4)+B(y+1)

Comparing coefficients of y and constant terms on both sides, we get A+ B =1
and 4A + B =0, which give

1 4
A=— and B=—
3 3

™ x? N .
us R+ +4)  30¢+1) 3¢ +4)
2
x“dx 1, d 4¢ d
Therefore, J‘# = ——JZ—X —j 3 X
X +D) (X" +4) 39x°+1 37x +4

—%tan'lx+ixltan'1§+ C

= —ltan_lx+gtan_1 Z+ C
3 3 2

In the above example, the substitution was made only for the partial fraction part
and not for the integration part. Now, we consider an example, where the integration
involves a combination of the substitution method and the partial fraction method.

(3 sin<|>—2) cos ¢ q
5—cos’hp—4sin ¢

Solution Let y = sin¢

Then dy = cos¢ dd

Example 15 Find |
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Therefore, I(3 sin — 2) cos¢ do = J' (3y—-2)dy

5—cos’p—4sind 5—(1-y*) -4y
J‘ 3y-2
Ty —4y+4
222 iay)
(y-2)
N it 3y -2 A, B [by Table 7.2 (2)]
oW, W€ Wri1te = Yy lable /.
(y-2) y-2 (y-2y
Therefore, 3y-2=A(y-2)+B

Comparing the coefficients of y and constant term, we get A=3 and B—2A=-2,
which gives A=3 and B =4.
Therefore, the required integral is given by

3
= |[[—+
S L . 2) I jw 2
1
_3log|y—2|+4(—ﬁj+c

4
2 —sin ¢

:3log|sin¢—2|+ +C

+C (since, 2 — sin ¢ is always positive)

= 3log (2—sin ¢) +
g ¢) 2—-sin¢

x>+ x+1dx

Example 16 Find Im

Solution The integrand is a proper rational function. Decompose the rational function
into partial fraction [Table 2.2(5)]. Write

X +x+1 A Bx+C
O+ (x+2)  X+2 (C+]1)

Therefore, X+X+1=A+1)+Bx+C)X+2)
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Equating the coefficients of X*, X and of constant term of both sides, we get
A+ B=1,2B+ C=1and A + 2C = 1. Solving these equations, we get

Azg,BzzandC=l
5 5 5

Thus, the integrand is given by

21
Xax+l 3575 3 1(2x+l
D) (x+2)  S5(x+2) xX*+1  5(xx+2) 5\ x*+1

2
x>+ x+1 30 0dx 1 2x e 1
o= S [ 1 o+ [—— o
Therefore, I 5 IX+2 59 %241 5 J.xz +1

OC+1) (x+2)
:Elog|X+2|+llog‘X2+1‘+ltan_1X+C
5 5 5
EXERCISE 7.5|
Integrate the rational functions in Exercises 1 to 21.
X 5 1 5 3x—1
= (X+1) (x+2) X2 -9 - (x=D(x=2)(x-3)
4 X . 2X . 1-x?
T (X=D)(x=2)(x=3) 7 x*+3x+2 ©x(1-2X)
7 X 8 X 9 3X—+5
L+ (x=1) C(x=1)? (x+2) - X=X —x+1
0 2x-3 11 5% - X +Xx+1
T =1 (2x+3) S (x+D) (X -4) X -1
2 3x-1 1
BoiTnaed) M xe2)? v

1
16. m [Hint: multiply numerator and denominator by X"~ ! and put x"=1 ]

17 cos X i bt e
" (1-sin X) (2 —sin X) [Hint : Put sin X=t]




INTEGRALS 323

¢ +1) (¢ +2) 2X 1
18. Ao 200
X +3)(x +4) X +Hx +3) X(X*=1)
1
21. & —1) [Hint : Put e =1]
Choose the correct answer in each of the Exercises 22 and 23.
CPI .L S—
- xohx-2) equals
(A) lo (x=1) +C (B) lo (x-2y +C
s X— s x—1
2
x—1
(C) log [Ej +C (D) log|(x-1)(x-2)|+C
23. equals
Ix(x2+1) 1
(A) log|x|—%log(xz+1)+C (B) log|x|+%log(xz+1)+c

1
(C) —log |X|+%log oC+)+C (D) 510g|><|+10g O+ +C

7.6 Integration by Parts

In this section, we describe one more method of integration, that is found quite useful in
integrating products of functions.

Ifuand v are any two differentiable functions of a single variable X (say). Then, by
the product rule of differentiation, we have

Integrating both sides, we get

dv du
= |u—dx+ |v—dx
W j dx dx
or uﬂdx =u- V%dx . (D)
dx X
dv
Let u="f(x) and W g(X). Then

d
d—i= £(x) and v = [ 900 dx
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Therefore, expression (1) can be rewritten as
[ £00 g0 ax = £00[ g(x) dx— [ g) dx] /(%) dx

ic. Jf00gedx = (0] g () dx— [T (x) [gx) dx] ik

If we take f as the first function and g as the second function, then this formula
may be stated as follows:

“The integral of the product of two functions = (first function) x (integral
of the second function) —Integral of [(differential coefficient of thefirst function)
x (integral of the second function)]”

Example 17 Find _[XCos X dx

Solution Put f (X) = X (first function) and g (X) = cos X (second function).
Then, integration by parts gives

d
IXcos xdx = xjcos xdx—j[&(x)jcos x dx] dx
= Xsin X—jsin X0X =xsin X+ cos X+ C
Suppose, we take f(X) = cos x and g(X) = X. Then

chos X dx

oS xjxdx—j[%(cos x)_[xdx] dx

2 2
= (cos X)X?+J.sin X%dx

Thus, it shows that the integral jx cos X dx is reduced to the comparatively more

complicated integral having more power of X. Therefore, the proper choice of the first
function and the second function is significant.

Remarks
(i) It is worth mentioning that integration by parts is not applicable to product of
functions in all cases. For instance, the method does not work for J.\/; sin X dX.
The reason is that there does not exist any function whose derivative is

Jx sin x.

(i) Observe that while finding the integral of the second function, we did not add
any constant of integration. If we write the integral of the second function cos X
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as sin X + k, where K is any constant, then

JXcos Xdx = X(sin X+ k)—f(sin X+ k) dx

X (sin X+ k)—j(sin xdx—fk dx

X (sin X+ k) — cos X—kx+C = Xsin X+cos X+C

This shows that adding a constant to the integral of the second function is
superfluous so far as the final result is concerned while applying the method of
integration by parts.

(ii}) Usually, if any function is a power of X or a polynomial in X, then we take it as the
first function. However, in cases where other function is inverse trigonometric
function or logarithmic function, then we take them as first function.

Example 18 Find flog X dx

Solution To start with, we are unable to guess a function whose derivative is log X. We
take log X as the first function and the constant function 1 as the second function. Then,
the integral of the second function is X.

Hence, I(logx.l) dx = log le ax— I[% (log x) J.l dx] dx
= (log x)-x—J.lxdx=xlog X=X+C.
X
Example 19 Find | x€”dx

Solution Take first function as X and second function as €. The integral of the second
function is €.

Therefore, fxexdx = xe‘ - fl -e"dx = xe*— e + C.

xsin~'x
Example 20 Find Iﬁ dx

Solution Let first function be sin ~ 'x and second function be

X dx

Ji-x

First we find the integral of the second function, i.e., f

Put t =1 — x2. Then dt = — 2x dx
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xdx  led Y
Therefore, jﬂ = 2I\ﬁ = -t VI-X

in”' : I 1
Hence, J-Xsm de = (sm_lx)(— 1—X2)—f (=v1=x*)dx
V1-x NIES's
= —J1-%* sin" "X+ x+C = x=v1-%" sin”'x+C
Alter natively, this integral can also be worked out by making substitution sin"' X =0 and
then integrating by parts.

Example 21 Find Ie" sin X dx

Solution Take €* as the first function and sin X as second function. Then, integrating
by parts, we have

I= Iex sin X dx=€*(—cos X)+Iexcos x dx

=—€cos X+ 1, (say) .. (D)
Taking €*and cos X as the first and second functions, respectively, in I, we get

I, = € sin X—Iexsin x dx
Substituting the value of I, in (1), we get
[=—€ecosx+e&sinXx—1 or 2l =€*(sin X — cos X)

X
Hence, 1= Iex sin XdX=%(sin X—cosX)+C

Alternatively, above integral can also be determined by taking sin X as the first function
and €* the second function.

7.6.1 Integral of the type Ie" [ f(x)+ f'(%)]dx
We have 1= e[ 0+ f'(0]dx = [€F00 dx+ [eF'(x) dx
= Il+fexf’(x) dx, whereIl=Iexf(X) dx . (1)
Taking f(X) and €*as the first function and second function, respectively, in I, and
integrating it by parts, we have I, = f (x) &— I f'(x) €dx+C
Substituting I, in (1), we get
[= exf(x)—f f’(x)exdx+jexf’(x) dx+C =ef(x)+C
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Thus, [T 00+ fO0ldx = eXf(x)+C

X2 +1)e

(x+1)°

Example 22 Find (i) fex(tan‘1x+ )dX (i1) I(

Solution

_ 1
(i) We have I =[€(tan™"x+ ) o

Consider f(x) = tan ', then f’(X) = 1+ X

Thus, the given integrand is of the form e[ f (x) + f "(X)].

1
Therefore, 1= jex(tan_lx+ —— )dx = e tan X+ C
+ X

o HDe _1+1+1)
(i) We have 1= I X1y —I (x+1) ———]dx
Je e e
(x+1) (x+1) Pl (x+1)
_ , 2
Consider f(X) =)):—+i, then f'(¥)= X+ 1)

Thus, the given integrand is of the form e* [f (X) + f "(X)].

2
X +1 x—1
Therefore, j i > € dx=——€"+C
xX+1) X+1
|EXERCISE 7.6
Integrate the functions in Exercises 1 to 22.
1. Xsin X 2. Xsin 3X 3. ¥ e 4. xlog X
5. Xlog2x 6. x*log X 7. Xsin 'X 8. xtan! x
. X cos X
9. Xcos! X 10. (sin'x)? 11.

\/72 12. X sec*X
1-x

13. tan'Xx 14. x (log x)* 15. (¢ +1)logx
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. X e o 1+sin X
16. e“(sinx+ cosx) 17. 1+ %) 18. 1+ cos X
1 @(l_lJ 20 B 51 e
9. X 32 0. (X—1)3 : sin X

22. sin‘l( 2X2j
1+ X

Choose the correct answer in Exercises 23 and 24.

23. Ixzexsdx equals
1 o %
(A) 5eX +C (B) Ee +C

1 ¢ 1
—e +C D) —€° +C
© 5 (D) € +

24, Iex sec X (1+ tan X) dx equals

(A) €cosx+C (B) esec x+ C
(C) esinx+C (D) etanx+ C

7.6.2 Integrals of some more types

Here, we discuss some special types of standard integrals based on the technique of
integration by parts :

@ f VX2 —a? dx (ii) _[sz +a’ dx (iii) J.x/a2 —x* dx
(i) Let I:I\/xz—a2 dx

Taking constant function 1 as the second function and integrating by parts, we
have

[= XVX —a _IfﬁXdX

2 2 2
x*-a’+a
dx — xVx*-a’ —j

b T

[
X2 —a?
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X’ —a
or 20= x\/xz—az—azfi
X’ —a’
2
or | = IJXZ_aZ dx = gx/xz—a2 —%Iog x+Vx?-a® [+C

Similarly, integrating other two integrals by parts, taking constant function 1 as the
second function, we get

2
(i) J'\/x2+a2dx=%x\/x2+a2 +a7log‘ X+ x% +a?

+C

1 2 X
(iii) I a? —x%dx == x+/a?-x? +& gntXic
2 2 a
Alternatively, integrals (i), (ii) and (iii) can also be found by making trigonometric
substitution X =asec0 in (i), X =atan® in (ii) and X=a sin® in (iii) respectively.

Example 23 Find I X* +2X+5 dx

Solution Note that

I\/xz +2X+5dx = j (X+1)* +4 dx

Put X+ 1 =Yy, so that dx = dy. Then

J‘\/x2 +2X+5dx = J‘«/yz +2% dy

1 > 4
=— +4+—1lo
2y y > g

y+yy +4 ‘+ C  [using7.6.2 (ii)]
L VX 42X+ 5+ 21og| X+ 14X +2x+5 |+ C
2

Example 24 Find I\/Z»—Zx—x2 dx
Solution Note that I\/3—2x—x2 dx=_|.~/4—(x+1)2 dx




330 MATHEMATICS

Put X + 1 =y so that dx = dy.

Thus I\/3—2x—x2 dx = I~/4—y2 dy
= % yy4-y’ +% sin‘1%+ C [using 7.6.2 (iii)]

- %(x+l) V3-2x—x* +2sin™ (XTHJ+C

|EXERCISE 7.7
Integrate the functions in Exercises 1 to 9.
1. Ja-x 2. J1-4x2 3. X +4x+6
Ao X +4x+1 5. \l1-4x-x2 6. Jx?+4x-5
2
7o 143x=x° 8. Jx?+3x 9. 1+j
Choose the correct answer in Exercises 10 to 11.
10. I\/1+X2 dx is equal to
(A) §\/1+x2 +%1og(x+\/1+x2) +C
2,2 2 ~
(B) 5(1+x)2+C © Ex(l+x)2+C

2

(D) %m+%leog X+m
11. Imdx is equal to

(A) %(X—4)\/x2—8x+7+9log x—4+M‘+C

(B) %(x+4)\/x2—8x+7+9log x+4+M‘+c

(©) %(X—4)m—3ﬁlog x—4+m‘+c

(D) %(X—4)m—glog x—4+m‘+c

+C
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7.7 Definitelntegral

In the previous sections, we have studied about the indefinite integrals and discussed
few methods of finding them including integrals of some special functions. In this
section, we shall study what is called definite integral of a function. The definite integral

has a unique value. A definite integral is denoted by I ° f (X) dx, where ais called the
a

lower limit of the integral and b is called the upper limit of the integral. The definite
integral is introduced either as the limit of a sum or if it has an anti derivative F in the
interval [a, b], then its value is the difference between the values of F at the end
points, i.e., F(b)— F(a). Here, we shall consider these two cases separately as discussed
below:

7.7.1 Definite integral as the limit of a sum

Let f be a continuous function defined on close interval [a, b]. Assume that all the
values taken by the function are non negative, so the graph of the function is a curve
above the x-axis.

b
The definite integral _[a f(X) dx is the area bounded by the curve y = f(X), the

ordinates X = a, X = b and the x-axis. To evaluate this area, consider the region PRSQP
between this curve, x-axis and the ordinates X = a and x = b (Fig 7.2).

Y
1 S
M7 4
C
QAL
Q N
P A B R
< > X
x O\ a= XO Xl XZ Xr-l Xr Xn=
Y .
Fig 7.2

Divide the interval [a, b] into n equal subintervals denoted by [x, X ], [X,, X ,...,
X1, s [X X ], where X, =a, x, =a+h,x, =a+2h, ..,x =a+rhand

n-1°

[X

r—1°

b-a
X =b=a+nhor n:T. We note that as N — o, h — 0.
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The region PRSQP under consideration is the sum of n subregions, where each
subregion is defined on subintervals [X _,X],r=1,2,3,...,n.

From Fig 7.2, we have

area of the rectangle (ABLC) < area of the region (ABDCA) < area of the rectangle
(ABDM) .. (1)

Evidently as X —x _, — 0, i.e., h — 0 all the three areas shown in (1) become
nearly equal to each other. Now we form the following sums.

n—1
s =h[fx)+..+fx )=h2 i) - (2)
r=0
n
and S, = hIf )+ F o) +..+ Fx)I=hY f(x) -~ (3)
r=1
Here, s and S denote the sum of areas of all lower rectangles and upper rectangles
raised over subintervals [x_, X ] forr =1, 2, 3, ..., n, respectively.
In view of the inequality (1) for an arbitrary subinterval [X_, X ], we have
s, < area of the region PRSQP <S_ .. (4

Asn — oo strips become narrower and narrower, it is assumed that the limiting
values of (2) and (3) are the same in both cases and the common limiting value is the
required area under the curve.

Symbolically, we write

. . b
lim§, - rlglgosh = area of the region PRSQP = _[ a f (x)dx .. (3)

N—oo
It follows that this area is also the limiting value of any area which is between that
of the rectangles below the curve and that of the rectangles above the curve. For
the sake of convenience, we shall take rectangles with height equal to that of the
curve at the left hand edge of each subinterval. Thus, we rewrite (5) as

j:f(x)dx ~limh[f(@)+ f@+h+..+ f@+n-1h

or I:f(x)dx = (ba)%ig;%[f(a)Jr f@+rhy+..+ f(a+(n-)h] . (6)

b-a
where h=———>0asn—-w
n

The above expression (6) is known as the definition of definite integral as the limit
of sum.

Remark The value of the definite integral of a function over any particular interval
depends on the function and the interval, but not on the variable of integration that we
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choose to represent the independent variable. If the independent variable is denoted by

t or uinstead of X, we simply write the integral as j ° f(t)dt or I ° f (u) du instead of
a a

b
J.a f(X) dx. Hence, the variable of integration is called a dummy variable.

2
Example 25 Find | - O +1) dx as the limit of a sum.

Solution By definition
J. f(x)dx = (b— a)hm [f(a)+f(a+h)+ 4+ f(@a+(n-1hj,

b-a

where, h=
n

: 2-0
In this example,a=0,b=2,f(x)=x2+ 1, h=——=

2
n n

Therefore,

2(n )

I(x +1)dx = 211m [f(0)+f( )+f(—)+ A4 f———)]

= 2lim l[l+(2+1)+(£+1)+ +(M+1J]

n—oo n2

1 1
= 20lim —[(1+1+..+)+— 2*+4 +..+(2n-2)"]
n—o | ——— N

n-terms

1 22 2 2 2
= 2lim—[n+— (" +2°+..+(n-1)7]
n’

n—o N

= 2liml[n+iz—(”_1)n(2”_l)]
n—o N n 6

— 2 lim L [n 2 (-1 (2n- 1)
n—wo N 3 n

. 2 1 1 4 14
=2lm [1+=(01-—-) -] =2[1+-] = —
fim [1+50-0) @91 =2 [1+3] =
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2
Example 26 Evaluate I . €* dx as the limit of a sum.

Solution By definition

) 1 3 f 2n-2
joex dX = (2-0)lim —| e’ +e" +e" +..+e "

n—ow N

2
Using the sum to n terms of a GP., where a=1, r =€", we have

2n

en—1 1] ex1
3 ]=2r{§{}oﬁz—

en—1 en—1

2 i 2 lim [
0 n—w N

26— N e VI
= ; =e -1 [usmgrlglg - =1]

en—1

-2

;
| 2

n

| EXERCISE 7.8|

Evaluate the following definite integrals as limit of sums.

1. I:xdx 2. J.Os(x+1)dx 3. J.szdx

4. I14(x2—x)dx 5. _fjlex dx 6. J.04(x+ezx)dx
7.8 Fundamental Theorem of Calculus 1 VI
7.8.1 Area function
We have defined j: f(X) dx as the area of

the region bounded by the curve y = f(X),

. . A
the ordinates X = a and X = b and x-axis. Let X *)

be a given point in [a, b]. Then I : f(x)dx xx 5

a X A

represents the area of the shaded region Y’ Fig 7.3
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in Fig 7.3 [Here it is assumed that f(X) > 0 for X € [a, b], the assertion made below is
equally true for other functions as well]. The area of this shaded region depends upon
the value of x.

In other words, the area of this shaded region is a function of X. We denote this
function of X by A(X). We call the function A(X) as Area function and is given by

X
AWK = [ f)dx ()

Based on this definition, the two basic fundamental theorems have been given.
However, we only state them as their proofs are beyond the scope of this text book.
7.8.2 First fundamental theorem of integral calculus
Theorem 1 Let f be a continuous function on the closed interval [a, b] and let A (X) be
the area function. Then A’(x) = f (x), for all x € [a, b].
7.8.3 Second fundamental theorem of integral calculus

We state below an important theorem which enables us to evaluate definite integrals
by making use of anti derivative.

Theorem 2 Let f be continuous function defined on the closed interval [a, b] and F be
b
an anti derivative of f. Then _[a f(x)dx = [F(x)]2 = F (b) - F(a).

Remarks

b
(1) Inwords, the Theorem 2 tells us that Ia f (X) dx= (value of the anti derivative F
of f at the upper limit b — value of the same anti derivative at the lower limit a).

(ii) This theorem is very useful, because it gives us a method of calculating the
definite integral more easily, without calculating the limit of a sum.

(i) The crucial operation in evaluating a definite integral is that of finding a function
whose derivative is equal to the integrand. This strengthens the relationship
between differentiation and integration.

b
(iv) In I . f (X) dx, the function f needs to be well defined and continuous in [&, b].

1
. . . L. 3 = .
For instance, the consideration of definite integral f , x(x2 —1)2 dx is erroneous

1
since the function f expressed by f(X) = X(X* —1)2 is not defined in a portion

— 1 <x<1 of the closed interval [- 2, 3].
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Steps for calculating I:f(x) dx.

(i) Find the indefinite integralf f(X) dx. Let this be F(x). There is no need to keep
integration constant C because if we consider F(X) + C instead of F(X), we get
b
[ (0 dx=[F (9 +CJ2 =[F(b) + C]-[F(a) + C] = F(b) - F(a).

Thus, the arbitrary constant disappears in evaluating the value of the definite
integral.

b
(ii) Evaluate F(b) — F(a) = [F (X)]?1 , which is the value of ja f(x) dx.
We now consider some examples

Example 27 Evaluate the following integrals:

3 9 x
() j ) x> dx (ii) L ——— X
(30— x2)?
T — i 4 in® 2t cos 2t o
(111) Ilm (IV) .[0 Sin COS
Solution

. _ 3.2 . 2 _X3_
(i) LetI—J.2X dx . Since IX dX—?—F(X),

Therefore, by the second fundamental theorem, we get

27 8 19
I=FQ3)-FQ2)=—-2=—
3)-F@® 37373
9
(i) LetI= f A 4 dx. We first find the anti derivative of the integrand.
(30— x2)>

3
: 2
Put 30— X2 =t. Then —%«/x dx=dt or VX ck=-dt

JIx 2.d 2[1] 2 1
Thus, J‘—édX=—§J‘—=§ Y Y =F(x)
(30— x2)?



(iii)

(iv)
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Therefore, by the second fundamental theorem of calculus, we have

9

1= F(9)—F(4)=% L

(30 — x2)

4

J2f v 1) 21 1]
-~ 31(30-27) 30-8| 3|3 22| 99

2 X dx

el S

X -1 N 2
(X+D)(X+2) xX+1 x+2

Using partial fraction, we get

X dx
So Im=—log|x+1|+2log|x+2|=F(X)

Therefore, by the second fundamental theorem of calculus, we have
I=FQ2)-F()=[-log3+2log4]—[-log2+2log3]

32
=-3log3+log2+2log4=log >

Let I= IOZsin3 2t cos2t dt . Consider fsin3 2t cos2t dt

1
Put sin 2t = u so that 2 cos 2t dt = du or cos 2t dt = 5 du

1
.3 b
So J‘sm 2tcos2tdt = 2Iu du

1 4. 1 .4
=—[u"]==sin" 2t =F (t) sa
8[ ] g (t) say

Therefore, by the second fundamental theorem of integral calculus

T 1 . 4T .4 1
I=F(—=)-F(0)=—=[sin" ——sin" 0] =—
() ~FO)=2lsin"> I=3
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|EXERCISE 7.9|
Evaluate the definite integrals in Exercises 1 to 20.
1 31 2 3 2
1. 14(X+1)dx 2. Ii;dx 3. I1(4x —5X" +6X+9) dx
L2 L2 s ki
4. [lsinaxax 5. [lcosaxdx 6. [ €dx 7. [ ftanxdx
i dx 1 dx 3 dx
[ *coseexax 9. [ 10. 11.
8 Igcosec 9 Io — 0 '[01+X2 szz—l
z 3 xdx 12X+3 1 e
2 ¢os? x € dx
12 [ eoxax 13 sz2+1 I05x2+1 15. [,

16 Izi 17 IZ(2seczx+x3+2)dX 18 J.n(sinzz—coszz)dx
S 44x+3 o 0 2 2

26X+3
0x*+4
Choose the correct answer in Exercises 21 and 22.

19. | dx 20 I;(xeersinnTx)dx

21. I lﬁ dx equals

2

1+x
A r B 2n C r D n
(A) 3 B) 3 ©) ¢ D)
2 dx
2. I034+9x2 equals
T T T
(A) c (B) I ©) o (D) N

7.9 Evaluation of Definite I ntegralsby Substitution

In the previous sections, we have discussed several methods for finding the indefinite
integral. One of the important methods for finding the indefinite integral is the method
of substitution.
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b
To evaluate Ia f (X) dx, by substitution, the steps could be as follows:

1. Consider the integral without limits and substitute, y=f (X) or x= g(y) to reduce

the given integral to a known form.

2. Integrate the new integrand with respect to the new variable without mentioning

the constant of integration.

3. Resubstitute for the new variable and write the answer in terms of the original

variable.

4. Find the values of answers obtained in (3) at the given limits of integral and find
the difference of the values at the upper and lower limits.

so that we can perform the last step.

In order to quicken this method, we can proceed as follows: After

performing steps 1, and 2, there is no need of step 3. Here, the integral will be kept
in the new variable itself, and the limits of the integral will accordingly be changed,

Let us illustrate this by examples.

1
Example 28 Evaluate I_15x4\/ x> +1dx.

Solution Put t = x®+ 1, then dt = 5x* dx.

Therefore, j5x4 XS +1dx

Hence, [ 5%V +1

W | N

3

W | N
1

3
[Vt = %tz _ 241y

3

3
3 1
(x5+1)2}
—1

3

@412 (1 + 1)2}

3 3
2 22—02] - %(2ﬁ)=¥

Alternatively, first we transform the integral and then evaluate the transformed integral

with new limits.
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Let t=x+ 1. Then dt = 5 x* dx.

Note that, when Xx=-1,t=0and whenx=1,t=2
Thus, as X varies from — 1 to 1, t varies from 0 to 2

Therefore .[_115)(4\/ X° +1 dx jjx/f at

3R
:g t2
3

dx

I tan~ ' X

Example 29 Evaluate Io Y
+ X

Solution Let t = tan ~'X, then dt =

g dx . The new limits are, when Xx=10, t=0 and
+ X

when x=1, t =% . Thus, as X varies from 0 to 1, t varies from 0 to % .

Therefore j an 5 dx= I“tdt Rl iy |
0 1+x 0 2], 2[16 32
|EXERCISE 7.10|
Evaluate the integrals in Exercises 1 to 8 using substitution.
X z 1L 2x
dx 2 fqi 5 dx
I0x2+1 2. _fo /sin ¢ cos® ¢ d¢ 3. J-Osm (1+x2j
2 g sin X
4. [ xIx+2 (putx+2=1) 5. [ 25 dx
0 1+cos” X
2 dx 1 dx (1 1 2%
N 7. - 8. ——— |e”dX
J.0x+4—x2 j—1x2+2x+5 jl(x 2x2j

Choose the correct answer in Exercises 9 and 10.
1

—y3)3
9. The value of the integral I 11 (X—z() dx is
z X
3
(A) 6 (B) 0 (©) 3 (D) 4
10. 1£f(x) = [ tsintdt, then F/(x) is

(A) cosx+ Xsin X (B) XsinX
(C) X cosx (D) sinx + X cosx
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7.10 Some Propertiesof Definitelntegrals

We list below some important properties of definite integrals. These will be useful in
evaluating the definite integrals more easily.

P: j:f(x)dx=j:f(t)dt
P : J.:f(x)dx=—I:f(X)dX.Inparticular, I:f(x)dx=0
P,: _[:f(x)dx=_[:f(x)dx+I:f(x)dx

b b
P.: jaf(x)dx=jaf(a+b—x)dx

a a
P, : J.O f(x)dx=j0 f(a—x)dx
(Note that P, is a particular case of P,)

P, : j;af(x)dx:j:f(x)dx+j:f(2a—x)dx

Pt [ todx=2]"fo0dx.if f2a-x)=f() and
0iff(2a—x)=—-f(x)

~

P: () [ if(x)dx:ZjOaf(x)dx, if fis an even function, i.e., if f (— X) = f (X).

(i1) jl f(X)dx=0, if f is an odd function, i.e., if f(— X) = —f(X).

We give the proofs of these properties one by one.
Proof of P, It follows directly by making the substitution x=t.
Proof of P, Let F be anti derivative of f. Then, by the second fundamental theorem of

calculus, we have I:f(x)dx:F(b)—F(a):—[F(a)—F(b)]=—j:f(x)dx

Here, we observe that, if a = b, then I: f(x)dx=0.
Proof of P, Let F be anti derivative of f. Then
b
ja f(x) dx = F(b) - F(a) (D)

[Tk =F(o) - F@ e

and | b f(x) dx = F(b) — F(c) - 03
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Adding (2) and (3), we get [ “f(x) o|x+jcb f (x)dx = F(b)— F(a) = j: f (x)dx

This proves the property P,.
Proof of P, Lett=a+ b—x. Then dt=—dx WhenXx=a,t=band whenx=Db,t=a
Therefore

_[: f(x) dx

—_[:f(a+b—t) dt

[“t@+b-tyd by p)

b
- ja f(a+b-x) dx by P,

Proof of P, Putt=a—x. Then dt =—dx. When x=0, t=aand when x=a, t=0. Now
proceed as in P,.

Proof of P, Using P,, we have Ioza f(x)dx= I: f(X) dx+.fa2a f(x) dx.

Let t = 2a—xin the second integral on the right hand side. Then
dt = — dx. When x=a, t=aand when Xx=2a,t=0. Also x=2a—t.
Therefore, the second integral becomes

2a 0 a a
[ foodx= -[ fa-tdt - [, fea-vd = [ f(a-xdx
Hence [ Foodx = [“Foodes [ f2a-x dx
Proof of P, Using P, we have jozaf(x) dx=[ "fogdx+[ TFRa-x (1)
Now, if f(2a— x) = f(X), then (1) becomes
2 a a a
J.Oaf(x)dx = [ oo [ oo dx=2[ "f(x)dx,
and if f(2a — x) = —f(X), then (1) becomes
2a a a
jo f(x)dx = jo f(x)olx—j0 f(x)dx=0
Proof of P, Using P, we have

J._aaf(x) dx = I_Oaf(x) dx+I:f(x) dX . Then

Let t = — Xin the first integral on the right hand side.
dt = — dx. When x =— a, t = a and when
Xx=0,t=0. Also x=-1.
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Therefore J._aa f(x) dx —j: f(-t)dt +I: f(x) dx

Ioaf(—x) dx+j:f(x) dx  (byP) .. (1)

(1) Now, if f is an even function, then f(—X) = f(X) and so (1) becomes
a a a a
J:a f (x)dx:j0 f(x)dx+.|‘0 f(x)dx= 2[0 f (x)dx
(i) Iffis an odd function, then f(—X) = — f(X) and so (1) becomes

j:f(X)dxz—j:f(x)dx+j:f(x)dx=0

Example 30 Evaluate J._zl I X — X Idx

Solution We note that X* — X >0 on [- 1, 0] and X) — X < 0 on [0, 1] and that
X’ —x=0on[l,2]. So by P, we write

J._le X —x‘dx = ﬁ(x3—x) dx+.|‘;—(x3 —X) dx+.|‘12(x3 — x) dx

= I_Ol(x3 - X) dx+f(§(x—x3) dX-I—Lz(X3 —X) dx

2 2 X1 [x T
4 2 . 2 4 o 4 2 X

|

I

I
+

I
+

I

|

I
V)

|

I
+

Example 31 Evaluate J-fn sin” X dx
4
Solution We observe that sin® X is an even function. Therefore, by P_ (i), we get

K K
J-fn sin? xdx = 2_[(;‘ sin? x dx

4
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Z(1-cos 2x 3
2[04%@ = _[04(1—cos2x)dx

= X—lsinZX ! :(E—lsm—j 0———l
2 0 4 2 2 4 2

n Xsin X

Example 32 Evaluate j ————dx
91+ cos” X
© Xsin X

Solution Let I = f dx. Then, by P,, we have

0 1+ cos? X

B J-Tr (m—X) sin (w— X) dx
- 1+ cos?(m—X)

_J~ (m—X) sin x dx _ chw sin X dx O

1+ cos? x 0 1+ cos’ X

= sin X dX
or ZI:nf —
0 1+cos” X
n szdX
or - X[ nxac
01+ cos® X
Put cos X =t so that — sin X dx = dt. When Xx=0,t=1 and when x=m,t=— 1.
Therefore, (by P)) we get

—m -1 dt :Ej-l dt
2

I:_
2 91 14t? 11412

1 dt . 1 )
= Io e (by P, since e s even function)

2

- n[tan_lt]z) =Tc[taln_ll—tan71 0]=n[§—0}=%

1
Example 33 Evaluate j 1 sin® X cos* x dx

1 . .
Solution Let I = J._lsms xcos* x dx . Let f(X) = sin® X cos* X. Then

f (= X) = sin® (- X) cos* (— X) = — sin’® X cos* X = — f(X), i.e., f is an odd function.
Therefore, by P_ (i), [= 0
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. 4
5 sin*X
Example 34 Evaluate J‘z — — dx
0 sin” X+cos” X

T . 4
Solution Let I = IO de .. (D
Sll’l X+COS X

Then, by P,

.4,
sin® (- x) .
2 = [>2—B % (2
0 4 4
COoS X+sin X

S A

. 4,T 4,T
Sin " (——X)+cos (——X
(2 ) (2 )

Adding (1) and (2), we get

T

5 SlIl X+COS X

2I=I2+dx j dx = [x]
0 sin” X+cos” X

I

Hence |

dx

Example 35 Evaluate j ik
+ an X

A w)y

T

Solution LetI—I ] \/ti I ycos X o .. (D)
+ an X

A/COS X ++/sin X

A wia

n cos E+E—X dx
3 3 6

Then, by P 1=’
: Ig (n n j .(n n )
CoS| —+——=X |+, [sin| —+——X
36 36

J‘ s1n
\/ sin X ++/cos X

Adding (1) and (2), we get

)

21 In X [X]n 376 6.Hencel B

6 6
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g

Example 36 Evaluate J.Oalog sin X dx

g

Solution Let I = jf log sin X dx

Then, by P,

e ® N (2
I .[o logsm(2 dex—j0 log cos x dx

Adding the two values of I, we get

K

21 = If(log sin X+ log cos x) dx

o a

= I . (log sin Xcos X+log2 —log 2) dx (by adding and subtracting log 2)

= Iflog sin2x dx—Iflog2 dx (Why?)

Put 2X =t in the first integral. Then 2 dx = dt, when X= 0, t = 0 and when X :g,

t=m.
Therefore 2l = lJ.nlo sint dt—Elo 2
240 8 2 g

T

LI .
Io2 log sint dt —510g2 [by P, as sin (1 —t) = sin t)

N o

= JE log sin X dx_g log?2 (by changing variable t to X)

T
=I]-—log2
> g

Hence J.OElOg sinxdx = _Tn log?2 .
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| EXERCISE 7.11|

By using the properties of definite integrals, evaluate the integrals in Exercises 1 to 19.

3
s1n sin2 X dx
cos? x dx 2. I ——F0x 3 I —3 3

sin X ++/cos X

S Nla

-

sin2 X+ cos? X

Z cos’ xdx 5 8
4. | —— 5. X+ 2| dx 6. X—5]dx
IO sin® X+ cos® X I‘5| | I2| |
1 kil 2
7. IOX(l—X)ndX 8. Io4log(1+tanx)dx 9. IOX\/Z—de
10. IE(2logsinx—logsin2x)dx 11. J‘? sin? x dx
2
T XdX % . 7 2n 5
12 [ = 13. [ 2 sin” xdx 14. | eos’ xadx
01+sinX *7“ 0
~ sinX—cos X T \/;
15, [ 3MATCOSA G4y 16, log(1+cosx)dx 17. ——0aX
IO 1+ sin X cos X -[0 g( ) fo Ix+Ja—x

18, [ -1

19. Show that [ (0@ dx=2 [ " (x) dx, if fand g are defined as f() = f(a—x)
and g(X) + g(a—x) =4

Choose the correct answer in Exercises 20 and 21.

T

20. The value of J._En (X* + X cos X+ tan’ X+ 1) dX is
2

(A) 0 (B) 2 (O (D) 1

4+3smxjdX s

21. ThevalueofJ-Ozlog[4 3
+3cosX

3
(A) 2 B) o (ORY (D) -2
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Miscellaneous Examples

Example 37 Find _fcos 6X /1 +sin 6x dx

Solution Put t = 1 + sin 6x, so that dt = 6 cos 6x dx

1
Therefore Icos6x 1+sin 6X dX:éjtzdt

3

= lxg(t)% +C= l(1+sin 6X)2 +C
6 3 9
1
4 _ )4
Example 38 Find [ X" gy
XS
1
| A T (e
Solution We have J‘(X —X) dX=I X dx
X x*

Put 1—L3=1—X’3 =t,sothati4dX=dt
X X
1 | s 5
- x)4 1 1 4> 4 1)+
Therefore ud =—|t4dt = —x—-t*+C=—|1-—| +C
'[ X’ X 3-[ 35 15 3

x* dx

Example 39 Find Im

Solution We have

X—4 = (x+l)+—1
(x-1)(x* +1) X=X +x-1
= (x+1)+;
B (x=1)(X* +1) - ()
1 A Bx+C

Now express XD+ 1) = x-1) + 1) . (2)
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So I=AX+1)+Bx+C)x-1)
=(A+B)¥+(C-B)x+A-C
Equating coefficients on both sides, we get A+ B=0,C—B=0andA-C=1,

which give A = l, B=C= 1 . Substituting values of A, B and C in (2), we get
2

2

1 11 o x 1
(X=1D(C+1)  2x=1) 2(¢+1) 20 +1)
Again, substituting (3) in (1), we have

. 3)

x* 1 1 X 1

= (X+1)+ —— -
(X=1) (X +x+1) (x+D) 2(x=1) 2 (¢ +1) 20¢+1)
Therefore
4 2
I Xz dx=X—+x+llog|x—1|—llog(x2+l)—ltan’lx+c
(X=1) (X" +x+1) 2 2 4 2

1
Example 40 Find [ [IOg (logx) + (log %)’ } dx

Solution Let I= I[log (logx)+ (1 ! 7 } dx
0g X

1

(log x)*
In the first integral, let us take 1 as the second function. Then integrating it by
parts, we get

— J-log (log x) dX+I dx

1 IdX

1 = xlog (log X)_leogXXd)H- (log x)*

dx +J‘ dx ) (1)

= Xlog (log X) —I (log )’

log X

. . dx . . .
Again, consider I , take 1 as the second function and integrate it by parts,

log x

dx X 1 1
we have I@_Logx _IX{_ (log )’ (;)} dx} .. (2
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Putting (2) in (1), we get

X dx dx
ot —
(logXx) (logXx)
Example 41 Find j [\/CO'E X ++/tan x] dx
Solution We have

= I[MJF tanx} dx:j\/tanx(l+eotx)dx

Put tan X = t2, so that sec?>x dx = 2t dt

1= xlog (log X) - — xlog (log X) —$+ C

logx_

2t dt
or dx = 2
1+t
1 2t
Th I= |t 1+—j dt
- f( ) 1+t

1 1
Put t—; =Y, so that (1 + t_zj dt = dy. Then

= —dy = an*1i+ = anl—(t_tj+
I—2Iy2+(ﬁ)2_\/§t 75+C V2t 7 *C

t2 -1 tan X—1
:\/Etan_1 +C=\/§tan_l( J+C
\/Et +/2tan X

sin 2Xcos 2x dx
{9 —cos*(2x)

Solution Let 1= [ SI2XCOS 2X (o

V9 —cos?2x

Example 42 Find [
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Put cos? (2X) =t so that 4 sin 2X cos 2X dx = — dt

Therefore 1= Ej +C=- l sin~! {% cos’ 2X} +C

—lJ‘L:—lsinl(
47 oz 4 3
Example 43 Evaluate J'i | xsin (7 x) | dx

xsinm Xfor—1<x<1

Solution Here f(X) = | X sin X | =
ere 1) =[x sin | —Xsinnxforlﬁxsg

3 3
Py . 1 . Py .
Therefore J.21|Xs1nn X|dx = _f  Xsin XdX+J.12—XSII’ITCXdX

3
1 . - .
- I 1X51n7t XdX—Il2X51nnxdx

Integrating both integrals on righthand side, we get

3

3 . 1 . 2

o s —XCOST X sinT X —XCOST X sinT X |2
J- | Xsin7 X|dX = + - +

-1 2 . 2

b T T i 1
_ LPLJ}LL
B T TC2 T Y TI:2

x dx

T
Example 44 Evaluate j -
P 0 a? cos® X+ b’ sin? x

n x dx _In (m—X) dx

Solution LetI= I . ;
0 a?cos? x+b?sin*x  * 0 a*cos®(n— X) +b’sin’(n - X)

(using P,)

J- T dx J- T X dx
= Tc J—
0 a?cos? x+b?sin®x Y9 a?cos’ x+b?sin? x

n dx

= nf - -1
0 a2 cos? X+ b?sin? x
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or I_nIn dx :g‘zjg dx

0 a2 cos? X+ b’ sin? x 0 a?cos® X+ b?sin? x
(using P,)

2—————— (dividing numerator and denominator by cos? X).

J- T sec’ xdx
0 a% +b? tan’ x

T
Put b tan X =1, so that b sec’>x dx = dt. Also, when x=0, t =0, and when X :E’

t = oo,
o 2
Therefore, 1:21' %zﬁ-l[tanll} =£[E—O}= T .
b’0a’+t" b a aj, abl2 2ab
Miscellaneous Exercise on Chapter 7
Integrate the functions in Exercises 1 to 24.
1 1 2 ! 3 ! [Hint:Put a]
: . . ——— [Hint:Putx=—
X% JxratJxib xJax—xt S
1 1 .
4, ——~ 5. —— [Hintt—/——— ;  » put X = 1]
X (x* +1)4 X2 +x3 X243 X3 Ll + xﬁJ
5X sin X eS logx _ e4 log X
6. —— 7 =< 7. ———< 8. —————
X+ (x*+9) sin (X—a) g’ logx _ o2 logx
cos X sin® —cos® x 1
9. F/— 10. — 3 11.
4 —sin?x 1—2sin” X cos” X cos (X+a) cos (X+b)
12 X 13 e—x 14 S
= C(1+€)(2+€9 O HD) (X +4)
15. cos®x glog sinx 16. el (x¢ + 1)! 17. f’ (ax + b) [f(ax + b)]"
18 1 19 sin”' /X —cos ' V/x o1
: . . : X
\/sm3Xs1n (X+ o) sin”' VX +cos ' VX € [0.1]
1-x 2+sin2X X* + X+1

20. 21. 22, —————
1++/x 1+ cos2X (X+1)2 (x+2)
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1—x o V% +1[log (X +1) -2 log x|

1+ X

X4

Evaluate the definite integrals in Exercises 25 to 33.

sin X cos X

cos? x dx

25 j [ SinX]dx 26. j SIX COSX k27, j;—
1+cosXx 0 cos* X+ sin* x 0 cos® X+ 4 sin’ X

3 smx+cosx

A/sin 2X

31. J.Oasin 2xtan”' (sin X) dx

28[

4
33. [ Ix=1]+[x=2]+|x-3[]dx

Prove the following (Exercises 34 to 39)

30 dx 2 2
I 2—=—+log—
Ix*(x+1) 3 3

36. Ijl X7 cos* xdx=0

38. J.OZZ tan’ X dx=1—log2

29 jl—dx
o1+ x—+x

s .
J~; sin X+ cos X

30. 0 94+16sin 2X

dx

30, In Xtan X

0 sec X+ tan X

35. I;xexdx=1

T

37. jozsin3xdx=%

39. Ilsin‘lxdx=E—1
0 2

1 ..
40. Evaluate I 082_3 *dx as a limit of a sum.

Choose the correct answers in Exercises 41 to 44.

41. I is equal to

e +e”
(A) tan!' (€9 + C
(C) log (- +C
42 I cos2X
(sin X+ cos X)?

-1
(A) —+C
sin X+ cos X

dx is equal to

(C) log|sinx—cosXx|+C

(B) tan! (&) + C
(D) log(ec+e9+C

(B) log|sinX+cosXx|+C

1

() (sin X + cos x)*



354

MATHEMATICS

43 1ff(@+b—x)=f (), then | x £(x) dx is equal to

a+b b a+b b

(A) — af(b—x)dx (B) — af(b+x)dx
© =2 :f(X)dx (D) a%b :f(x)dx
44. The value of | tan™ (%) dx is
(A) 1 (8) 0 (©) -1 D) 5
Summary

@ Integration is the inverse process of differentiation. In the differential calculus,

we are given a function and we have to find the derivative or differential of
this function, but in the integral calculus, we are to find a function whose
differential is given. Thus, integration is a process which is the inverse of
differentiation.

d
Let = F(X)= f(X). Then we write I f(X)dx=F (x)+ C. These integrals

are called indefinite integrals or general integrals, C is called constant of
integration. All these integrals differ by a constant.

From the geometric point of view, an indefinite integral is collection of family
of curves, each of which is obtained by translating one of the curves parallel
to itself upwards or downwards along the y-axis.

Some properties of indefinite integrals are as follows:

1. I[f(x)+g(x)]dx=jf(x) dx+jg(x) dx

2. For any real number K, Ik f(x)dx= k.[ f(x) dx

More generally, if f, f,, f,, ..., f are functions and k, k, ... K are real
numbers. Then

J.[kl fL()+ Kk, f,(X)+...+ Kk, f,(x)] dx

= kljfl(x) dx+k, J. f,(X) dx+...+ Kk, .[fn(x) dx
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€ Some standard integrals

n+1

X
() IXndX= n+1+c,n¢—1.Particularly, Idx=x+c
(i) _[costX=sinX+C (iif) IsinXdX=—cosX+C
(iv) Iseczde=tanX+C (v) Icoseczde=—cotX+C

(vi) _[sec Xtan X dx=sec X+ C

vii cosec XCOo = — CcoSecC Vil 5 -
\1-=X

dx _ 1 dx .
(ix) I e cos  X+C (x) _[1+X2=tan x+C
1 dx -1 . X X
(x1) ,[1_'_)(2 =-cot X+C (xii) Je dx=¢€"+C
al dx >
i A XS C (xiv) [——=sec”' x+C
J. loga Ixm
dx ol
(xv) I—z—cosec’1x+C (xvi) I—dX=log|X|+C
xVx -1 X

€ |Integration by partial fractions

Recall that a rational function is ratio of two polynomials of the form % ,
X
where P(X) and Q (X) are polynomials in X and Q (X) # 0. If degree of the

polynomial P (X) is greater than the degree of the polynomial Q (X), then we

may divide P (X) by Q (X) so that sz (X)+m, where T(X) is a
Q(X) Q(X)
polynomial in X and degree of P, (X) is less than the degree of Q(X). T(X)
P (X)

being polynomial can be easily integrated. can be integrated by

Q(¥)
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expressing il
Q%)
1, B -
(x—a)(x—b)
PX+q
2 (x-a) -
pX? + OX+ T
3. (x—a) (x=b)(x-c)
PX* + QX+ T
* (x—a)’ (x-b)
X2 + QX+ I
5. p. q _

(x—a) (X* +bx+c)

as the sum of partial fractions of the following type:

A B
——+——,a#b
x—a X-b

A B
x-a (x-a)’

A B C

A Bx+C
+ 2
X—a X +bx+c

where X + bx + ¢ can not be factorised further.

Integration by substitution

A change in the variable of integration often reduces an integral to one of the
fundamental integrals. The method in which we change the variable to some
other variable is called the method of substitution. When the integrand involves
some trigonometric functions, we use some well known identities to find the
integrals. Using substitution technique, we obtain the following standard

integrals.

(1) _[tanxdx=10g|secx|+C

(ii) _[cothX=log|sinX|+C

(iif) _[secxdx=log|secx+tanx|+C

(iv) _[cosecx dx =log | cosec X — cot X| +C

€ Integrals of some special functions

. _[ dx —Llo X—a
O "2 "2a %|x+a
- _[ dx —Llo a+X

@ J2 2 "2a %lax

+C

+C

dx 1 X
3 > =—tan 'Z4C
X +a a a

(i) |
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.1 X
=sin ' =+C

dx
(iv) I%zlog x+Vxt—a’ |+C (v) Iﬁ a
i) j%:logwﬂ/x%azuc
X +a

€ |Integration by parts
For given functions f and f, we have

[ 1,00+ 1,(x) dx= £, [ £, dx—f[% {0 [ 1,00 dx}dx, i.c., the

integral of the product of two functions = first function x integral of the
second function — integral of {differential coefficient of the first function x
integral of the second function}. Care must be taken in choosing the first
function and the second function. Obviously, we must take that function as
the second function whose integral is well known to us.

* _[ex[f(x)+f’(x)]dx:J.eXf(x)dx+C
€ Some special types of integrals

2

(i) I\/xz—az dx=§\/x2—a2 —%log x+Vx*-a’|+C
2

(ii) J\/x2+a2 dX=§\/X2+a2+a7log x+vxt+a’ [+C

2
i) [va?-x dx=§\/a2 e +a7sin_1§+c

dx dx

> orj can be
ax’ +bx+¢ 7 Jax +bx+c

(iv) Integrals of the types j

transformed into standard form by expressing

2 2
ad+bx+c= a[x2+2x+3}=a{(x+£) +(E—b—zﬂ
a a 2a a 4a

px+ q dx px+ q dx

(v) Integrals of the types jax2+bx+corIJ

can be
ax’ +bx+c
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transformed into standard form by expressing

}C)X+q=Adi(ax2 +bx+c)+B=A (2ax+b)+ B, where A and B are
X

determined by comparing coefficients on both sides.

¢ We have defined j i (X) dx as the area of the region bounded by the curve
a

y = f(X), a < x < b, the X-axis and the ordinates Xx=a and x = b. Let X be a

given point in [a, b]. Then Iax f (X) dX represents the Area function A (x).

This concept of area function leads to the Fundamental Theorems of Integral
Calculus.
First fundamental theorem of integral calculus

Let the area function be defined by A(X) = _[: f(X) dx for all x > a, where

the function f is assumed to be continuous on [a, b]. Then A’ (x) = f (X) for all

X e [a b].
Second fundamental theorem of integral calculus
Let f be a continuous function of X defined on the closed interval [a, b] and

d
let F be another function such that = F(X) = f(X) for all X in the domain of

f, then j: F () dx=[F(x) +C[’ =F (b)F (a).

This is called the definite integral of f over the range [a, b], where aand b
are called the limits of integration, a being the lower limit and b the
upper limit.

— % —
L4



